

## KASSELMAN ELECTRIC CO., INC.

279 Broadway • Menands, New York 12204 518-465-4795

February 4<sup>th</sup>, 2025

VILLAGE OF MENANDS, 280 BROADWAY, MENANDS, NY

Re: Fire House Compressor

## Michael,

We are pleased to quote the outdoor outlet install on the above referenced project as per our walkthrough, with the following qualifications and exclusions:

#### **Qualifications:**

- 1. Provide and install all pipe and wiring for owner supplied compressor
- 2. Provide and install a 50AMP disconnect at the equipment per code.
- 3. All installations to meet the requirements of the 2020 National Electrical Code.
- 4. All work to be completed during regular business hours, 7-3:30pm, M-F.

#### **Exclusions:**

- 1. Troubleshooting existing issues on compressor
- 2. Utility Company Charges
- 3. Painting, concrete, cutting, patching.
- 4. Performance Bonding/ Electrical Permit.
- 5. Temporary power.
- 6. NYS sales tax.

**Total Electrical Quote**;

\$3,225.00

We would like to thank you for the opportunity to quote this project. If you have any questions, please call us.

## Edward McAdoo

Superintendent Office (518)465-4795 x114 Cell (518)530-3172



This proposal is valid for 60 days from the date listed above.



## **Bid Proposal**

## **Village of Menands Fire House**

#### **BURKE ELECTRIC**

4 Wolfert Avenue Suite 2

Menands, NY 12204 Phone: (518) 487-4236

Village of Menands 280 Broadway Menands, NY 12204 25 November 2024 Job ID: 24-0538

Attention: Brian Marsh

Re: Proposal for Village of Menands Fire House

We are pleased to quote the Electrical Installation on the above referenced project

### Qualifications:

- 1. Inspection Fee is included.
- 2. Provide power for (3) wall mounted fans. Provide breaker for fans. Provide switch at each fan location
- 3. Provide a 1Ph 208V 40A feed to air compressor. Provide new 2P40A breaker. Provide a disconnect for air compressor and tie in whip from compressor
- 4. Provide power to (3) 5' plugmold strips. (2) on the back wall behind lockers and (1) but the shelf
- 5. Provide power and switch for a wall mounted LED light. Provide a 2' LED light mounted to the wall

#### **Exclusions:**

- 1. Utility Company Charges.
- 2. Trenching, backfill, concrete, cutting, patching, coring and roof penetrations.
- 3. HVAC and Mechanical, controls, control wiring and starters.
- 4. Performance Bonding.
- 5. Temporary power.
- 6. Equipment terminations
- 7. Omissions from Electrical Drawings or Specifications.
- 8. Taxes

#### Pricing:

For the Sum of \$ 8,048.00

We would like to thank you for the opportunity to quote this project. If you have any questions, please call us.

Sincerely,

Steve Burke BURKE ELECTRIC

# **PROPOSAL**



# FULLY INSURED AND LICENSED

Name	VILLAGE OF MENANDS	Company	GERACI TWINS ELECTRIC
Address	250 Broadway	Name	JOHN GERACI
City, State ZIP	Menands, NY 12204	Address	26 DOBERT CT.
Phone	518-434-2922	City, State ZIP	WYNANTSKILL, NY 12198
Email		Phone	518-421-0536
	AIR COMPRESSOR AND OUTLETS AT	Email	AFD645@GMAIL.COM
Project name	THE FIRE HOUSE.	Completion date	
Scope of Work			
Not included	ECTION BY MDIA.		
Company Proposal			
	R ARE GUARANEED FOR ONE YEAR FROM THE INER FOR THE SUM OF . \$6485.00	DATE OF THE COMPLEATION	N OF THE WORK. ALL WORK COMPLETED
JOHN GERACI		1/27/25	
Submitted by		Date	
Owner Acceptance			



## Quote

 Quote #
 QT1898123

 Date
 01/27/2025

Expires 02/11/2025
Sales Rep Clairmont, James

Shipping Method FedEx Ground

Customer MENANDS FIRE DEPT./VILLAGE

Customer # C48104

**Bill To** 

Dave Ognan Menands Fire Company 250 BROADWAY Albany NY 12204 United States

## Ship To

David Ognan MENANDS DPW 250 BROADWAY Albany NY 12204 United States

Item	Alt. Item #	Units	Description	QTY	Un	it Price	Amount
CTC-1000			TeleCrib® Jr. AllinOne Strut		2	\$1,699.00	\$3,398.00

 Subtotal
 \$3,398.00

 Shipping Cost
 \$0.00

 Tax Total
 \$0.00

 Total
 \$3,398.00

This Quotation is subject to any applicable sales tax and shipping and handling charges that may apply. Tax and shipping charges are considered estimated and will be recalculated at the time of shipment to ensure they take into account the most current information.

All returns must be processed within 30 days of receipt and require a return authorization number and are subject to a restocking fee.

Custom orders are not returnable. Effective tax rate will be applicable at the time of invoice.



## Quote

 Quote #
 QT1894661

 Date
 01/16/2025

Sales Rep Clairmont, James
Shipping Method FedEx Ground

Customer MENANDS FIRE DEPT./VILLAGE

01/31/2025

Customer # C48104

**Bill To** 

Dave Ognan Menands Fire Company 250 BROADWAY Albany NY 12204 United States Ship To

**Expires** 

David Ognan MENANDS DPW 250 BROADWAY Albany NY 12204 United States

Item	Alt. Item #	Units	Description	QTY	Unit Price	Amount
3629009			Rabbit Tool Forcible Entry Device Kit- rabbit tool, manual hand pump, hose assembly, pry bar, hammer, shoulder bag	1	\$3,105.76	\$3,105.76
HR-2			HYDRA-RAM II, FORCIBLE ENTRYTOOL 6 inch MAX THRUST OPENING	1	\$2,938.00	\$2,938.00

 Subtotal
 \$6,043.76

 Shipping Cost
 \$0.00

 Tax Total
 \$0.00

 Total
 \$6,043.76

This Quotation is subject to any applicable sales tax and shipping and handling charges that may apply. Tax and shipping charges are considered estimated and will be recalculated at the time of shipment to ensure they take into account the most current information.

All returns must be processed within 30 days of receipt and require a return authorization number and are subject to a restocking fee.

Custom orders are not returnable. Effective tax rate will be applicable at the time of invoice.

# **Emergency Threads**

23 Joy Drive

Loudonville, NY 12211 Phone: 716-203-1460 Fax: 518-690-0335

Website: www.emergencythreads.com

# Quotation

DATE	12/18/24
Invoice #	
CUSTOMER ID	MFD

#### **BILL TO:**

Menands Fire Dept 250 Broadway Menands, NY 12204

### SHIP TO:

Menands Fire Dept 250 Broadway Menands, NY 12204

SALESPERSON	P.O. #	SHIP DATE	SHIP VIA	F.O.B.	TERMS
JAC			POV		COD

ITEM#	DESCRIPTION	QTY	UNIT PRICE TAX	TOTAL
F5484Sm	Propper 1/4 Zip Job Shirt - Small	0	\$60.00	\$0.00
F5484Md	Propper 1/4 Zip Job Shirt - Medium	8	\$60.00	\$480.00
F5484Lg	Propper 1/4 Zip Job Shirt - Large	12	\$60.00	\$720.00
F5484XLg	Propper 1/4 Zip Job Shirt - X-Large	8	\$60.00	\$480.00
F5484XXLg	Propper 1/4 Zip Job Shirt - XX-Large	4	\$60.00	\$240.00
F5484XXXLg	Propper 1/4 Zip Job Shirt - XXX-Large	1	\$60.00	\$60.00
NameEmb	Name Embroidery	33	\$5.00	\$165.00
HTVBack	Full Back Vinyl Graphic - Single Color	33	\$10.00	\$330.00
LogoDig	New Logo Digitizing (\$/1000)	21.2	\$2.50	\$53.00

## Other Comments or Special Instructions

- 1. Price includes left chest embroidery with logo
- 2. Tax exempt form requested with payment, if applicable
- 3. Logo digitizing fee assessed once logo approved by client

SUBTOTAL	2,528.00
TAXABLE	-
TAX RATE	4.000%
TAX	-
S & H	-
OTHER	-
TOTAL	\$ 2,528.00

Make all checks payable to Emergency Threads

If you have any questions about this invoice please contact jason@emergencythreads.com

Thank You For Your Business!

TransAtlantic Associates, LLC

ACCEPTANCE SIGNATURE	Date

# **Emergency Threads**

23 Joy Drive

Loudonville, NY 12211 Phone: 716-203-1460 Fax: 518-690-0335

Website: www.emergencythreads.com

# Quotation

DATE	12/18/24
Invoice #	
CUSTOMER ID	MFD

#### **BILL TO:**

Menands Fire Dept 250 Broadway Menands, NY 12204

### SHIP TO:

Menands Fire Dept 250 Broadway Menands, NY 12204

SALESPERSON	P.O. #	SHIP DATE	SHIP VIA	F.O.B.	TERMS
JAC			POV		COD

ITEM#	DESCRIPTION	QTY	UNIT PRICE TAX	TOTAL
F5484Sm	Propper 1/4 Zip Job Shirt - Small	0	\$60.00	\$0.00
F5484Md	Propper 1/4 Zip Job Shirt - Medium	8	\$60.00	\$480.00
F5484Lg	Propper 1/4 Zip Job Shirt - Large	12	\$60.00	\$720.00
F5484XLg	Propper 1/4 Zip Job Shirt - X-Large	8	\$60.00	\$480.00
F5484XXLg	Propper 1/4 Zip Job Shirt - XX-Large	4	\$60.00	\$240.00
F5484XXXLg	Propper 1/4 Zip Job Shirt - XXX-Large	1	\$60.00	\$60.00
NameEmb	Name Embroidery	33	\$5.00	\$165.00
HTVBack	Full Back Vinyl Graphic - Single Color	33	\$10.00	\$330.00
LogoDig	New Logo Digitizing (\$/1000)	21.2	\$2.50	\$53.00

## Other Comments or Special Instructions

- 1. Price includes left chest embroidery with logo
- 2. Tax exempt form requested with payment, if applicable
- 3. Logo digitizing fee assessed once logo approved by client

SUBTOTAL	2,528.00
TAXABLE	-
TAX RATE	4.000%
TAX	-
S & H	-
OTHER	-
TOTAL	\$ 2,528.00

Make all checks payable to Emergency Threads

If you have any questions about this invoice please contact jason@emergencythreads.com

Thank You For Your Business!

TransAtlantic Associates, LLC

## Invoice #56766 Thank you for your order!

## Menands Fire - Jobshirts and Hats



Wicked Smart, LLC

700 5th Ave Watervliet, New York 12189 518.459.2855

http://www.wickedsmartapparel.com justinve@wickedsmartapparel.com Created January 16, 2025
Customer Due Date January 16, 2025
Invoice Date January 16, 2025
Payment Due Date January 16, 2025
Total \$4,026.00

\$4,026.00

Outstanding

**Customer Billing** 

Menands Fire Dept David Ognan 250 Broadway Menands, New York 12204 518-269-1230

firechief@villageofmenands.com

**Customer Shipping** 

Menands Fire Dept David Ognan 250 Broadway Menands, New York 12204

Category	Item #	Color	Description	s	М	L	XL	2XL	3XL	Qty	Items	Price	Total
Embroidery	118507	Midnight Navy	First Tactical - Men's Cotton Job Shirt 1/4 Zip		8	12	8	4	1		33	\$102.00	\$3,366.00
PARTIES (MARKETON)		nFD											
Embroidery	SP12	Navy	Sportsman - 12" Solid Cuffed Beanie - SP12							40	40	\$16.50	\$660.00

**Total Quantity** 73 Item Total \$4,026.00 **Fees Total** \$0.00 Sub Total \$4,026.00 \$0.00 Tax **Total Due** \$4,026.00 Paid \$0.00 Outstanding \$4,026.00